Tabelle 36: Beispiel 4 = Ausgangslosung (20 und 40 ha LN)
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Py P, P, Ps P4 Ps Ps P; Py Py Pyg Puu P12 Py Py Py Py Pi7 Pys Piy Py Py Poe Py Py Ps  Pog
verfiigbare
Ackerfliche ...... Psl120/ 1 — — — — — - = - - — — 1,0 1,0 1,0 1,0 1,0 — — 1,0 0,05 0,015 0,02 005 003 —
maximale
Getreidefliche ... Py 0 B T 0,3333 —0,6667 — 0,6667 — 0,6667 — 0,6667 — —  —0,6667 — — — — — —
maximale
Blattfruchtfliche Ps 0 - = 1 - — - — — — — — — —0,6667 0,3333 0,3333 0,3333 0,3333 — — 0,3333 — — — — — —
verfiigbare AKh
in PeriodeII ..... Pl 74| - — — 1 — — — — — — — — — 17,0 17,0 19,0 21,0 50 17,0 330 24,3 4,7 3,5 180 106 09
verfiigbare AKh
inPeriodeIIl ....P; | 386 | — — — — 1 — — — — — — — — 135,0 5,0 — — 5,0 9,0 10,0 70 0,6 — 10 24 05
Schweinemast
(Getreide) ....... Pg 0 - - = - - 1 - - — — — — —35 — — — — — - — — — — — — 1,0
verfligbare AKh
in PeriodevVa ....P; 93¢ | — — — — — — 1 — — — — — 4,0 12,0 152,0 — 35,0 5,0 8,0 — 293 5,3 3,7 24 129 1,2
verfligbare AKh
Winter/Tag ...... Ps|l105| — — — — — — — 1 — — — — - 0,3 0,3 — — — — — 0,45 0,12 0,10 0,14 0,11 0,03
Stirkeeinheiten .. Py 0 - - - - - - = — 1 = - — — — — — 31,0 — 470 —350 —400 —37,0 22,1 38 7,2 20,2 — —
Eiweil .......... Pl O );— - — - - - — = - 1 = — — — — — 6,8 - 36 — 88 —100 — 83 38 09 1,5 29 — —
Kilber .......... Pyl O - - - - - = = — — — 1 — — — — — — — — — —0,7 1,0 067 —134 — —
Weide ........... Pl 80| — - - — — — — — — — — 1 o — — —_ — 1,0 1,0 — — — — — 0,07 —
.................. - - - - = = = = = = = = — 0 0 0 0 0 0 0 0 0 0 0 0 0o 0
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